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1D pull distribution

—0.007755 + 0.1606

Mean

1.18 +0.1136

Std Dev

Underflow

Overflow

125417
9.729 + 2,517

X2 / ndf
Constant

0.2475 +0.1645

Mean

0.9105 + 0.1960

Sigma

|

|

75.2 /53

584.3

X2 / ndf

129.5
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cor_usl RMS
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cor_asym_us_dd (ppb) 1D pull distribution

3000 X2/ ndf 48.1/53

Mean 0.003944 + 0.1284
pO

-236.3 + 127.9 i

12- Std Dev  0.9438 + 0.09081

2000
- Underflow 0

10 Overflow 0
‘ ] r X2/ ndf 1.304/6
Il

1000

-1000

-2000

= 1 Constant 11.45 +2.04
l l l 8 - I
o Mean 0.098 + 0.157
| Sigma 1.002 + 0.132
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